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SECTION -
g - 1|
CHILD DEVELOPMENT AND PEDAGOGY
e T oo R
There are 30 questions in all in this section.

All questions are compulsory.
WaEE i A 0 TAE |

Tty A £ |

Which of the following may not pe expected from a teacher to keep in mind while
respecting individual difference ?

(A) Ability grouping (B) Adjusting the curriculum

(C) Leaving Children for self study (D) Adjusting the methods of teaching

s fft=Tan 1 ¥97H 1 T, v Rige @« Y a8 ?
(A) daFEREEE s (B) R T |
(€) it o T & R s 3 ) (D)ém ) G T |

When both chronological and mental gﬁ‘nanmn is 9 years, her intelligence category
may be considered as

(A) Superior 6 (B) Sub-average |

(C) Average QO (D) Genius

fE QT <t HIATIHIHS IW T IN 9 T B, W 3T - 1 77 7 bl 8
(A) IpB! (B) INwar®H

(C) aa (D) Wh™EH

e ;i ae N
Which of the following is the characteristics of Autism ? |
(A) Poor Socialization (B) Stereotypic behaviour

(C) Poor Communication (D) All of the above

A 7 @ 8 & it e € 7
(A) THSI G STEN (B) FIGHG TEN
et deeal]? iti ntitatively should be termed as
The process of an individual’s #Pﬂmnes qua
(.«%;e pDﬁ\’_ﬂl_UP_mmt Eg)) Sdr:t:::tiun
(C) Ethbnummm £ aam m%
(A) e (3T - miﬂ@w
(D)
: )
(©) ¥ (AR . 2.T.0.
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(4) ST-2
For tht.: Proper development of a child at adolescent
following : (which onc ?) |
(A) Rendering proper gender education
(B)  Providing suitable environment

(C) Amanging guidance and counsellin ' i
g services (if required
(D) All of the above Squirec)

R 3 o 4 e e g o e - (B 2
q17?

(A) Tom e e sm e

(B) 3fua araE YeH HE0

(C) el YT AriceA 8T &) sqawen & (AR aws 8 )

(D) Syl fafgaafi,

Stage, parents and teachers can do the

Which of the following is not related to Action Research ?

(A) Action research helps in theory building.

(B) It enables us to solve practical problem.

(C) Focus on problem that arc of immediate concern. o
(D) Offers formation feedback such that aims and @nlngy are open to variation.
P d @ i frarers My A gafua T& 8 7 O

(A) Trareres vig Rrgra Ao = g ¥
(B) IR SATTRINH THE & GHIYH FA 2l
(C) i@ fRidaes e & SN I8 2|
(D) /4% TeATcH WiafsHal <al & St sorreft, # e wRad 24 |

A teacher is going to apply tlv@ciplm-nf Thomdike's theory in the classroom. What

should not apply from Nie nllnwing‘% _
?g:;ShtEC‘hildrcn shmﬁd be rcadv or motivated properly for learming a task.

(B) Children should ented to a discovery approach towards learning new things.

' ' 11 work should be carried out.
C) Sufficient practicebor drill work s * . |
: D; Teacher should try to make use of rewards as properly as possible.

s Rige aﬂﬂmﬁm#sﬁm%fﬂzhaﬁmmmmt | Pr=ferfRea & @ == fies =i

a1fgq ?
z?mmmmmmﬁmmnwﬂﬁmﬁmmmu

(B) aﬁaﬁﬂﬁ@ﬂaﬁigﬁhﬁﬁ%ﬁwmﬁmmw'

Ry ayvard aut fe wrd fran s e I
Eg;-"wﬁﬁﬁﬁrﬁaﬁwmmﬁHWWﬁmﬁﬁaﬁﬁmmam|

the inability to distinguish between one’s own perspective and other's

IS
ive i hildhood.
perspective In carly chi (8) Ego seviicsin

(A) Centricism
o (D) None of the above
(C) Ammism 3 S 319 T ZE & FARY F b A H IR i gutar |

(A) Fze (FR) (B) 43R ¥ (¥ A=) ¢
(C) STeHaTg (THIHIST) (D) Fﬁﬁﬁ’*ﬁ
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ks (5) 4

9. “When someone fails repeatedly to overcome weaknesses and achieve some mastery of
simply places excessive emphasis on some particular inferiority.” Who illustrated the
above statement as ‘inferiority complex” ?

(A) Carl Gustav Jung (B) Sigmund Freud
(C) Karen Homey (D) Alfred Adler

T Y TRAR T FHARE A Frever 7 e g 2 aﬂ:@mmﬁamﬂg
TRV 3 v ) ey e 2 e & 1 o e e 4 e -

&Hel 7
(A) T TR g (B) Rmis wias
(C) T (D), IS T

alters focused 18

. X . 4 qW
0. The highly efficient form of ll:ﬂﬂ'llﬂg Eppmach‘ on “hlﬂl:.l Bandura ﬂ'l'l I
1 (A] I'%g“}:ﬂfd and Puﬁiﬁhmﬂnt (B) OhSﬂ'Wﬂ"ﬂﬂﬂl Learming or Imitati0

jzati D) None of the above
T (C) Self-actualization (D) ! amﬁmag

"mﬁﬁ1wmwﬁ"ﬁﬂm a1 dieel
‘ﬂ:’i‘ ﬁﬂ&m*gﬁaﬁvﬂmﬂaﬁ‘"

(A) TGERR YT & o
(C) @E- A (D) 9 %rﬁé(@é
' ing le of teacher ?
11. Asper Right to Education ‘AC In%i’smn;t aro
Complete entire curmct .
tg; T::;Ecr shall engage himself nr1_1 y n;:agtz :;::::;1 .
(O) Maintain regulanty and P}mctual rrrpe; e iy cupplement 2 qdition
(D) Assess the learnin
instructions. R + ol 7 e ?
T 3 HTUHR : R
s ﬁrﬁ@ Hq:a @@l
(B) E:naj.ga aﬂqwmmmmml
" b S 3% sfafaa AT SEH
i ¥ ayftrm & et T I
(D) & qIeTeh
v | i hich of the following would
crsonality structurc, whic )
12 According to Freud's lr:‘::g:;T;T:ccjhﬁcly and reﬂcmgwr:ly as they arose, without regard to
: . : amenta 04 9
Sa:ISfytlisri:;Tity of life or morals of anY k(l;) £ oth ego and Super €0
rules, B) B
(A) lsdupefegu ﬂm%ﬁ;&ﬁqﬁﬁaﬁ#w?ﬂaiﬂ%m%wﬂ
%ﬁyﬂ!ﬁ“mlam 'ﬁwmwﬁmmﬁﬁmﬂ aa%ammgq)@
g (
: safeE® & o
ke | B) < aﬂwmﬁi (Both Ego and Super ego)
mt 4 g0) ( el _
(A) quaTed, (SuPe' (D)
- P.T.O.
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F (6) 1,
3. In which of the following technique, the child eary gp: : -
! desirable items, services or privileges ? ™ objects, which they can exchange for
(A) Token economy (B) Shapin g -
(0) Extioston - (D) Covert Sensitization
fer 3 & o TS & aiela, o w=n el iy gy o 4, ol F o o
7= I, 1 1A 9T wHar g 7 M

(A) aﬁ 'ﬁ-ﬂﬁ (Tﬂken ECUnﬁmy) (B’) TIB? m (Shapmg)
() fawie (Extinction) (D) FHE FadIHTr (Covert Sensitization)

14. Students encountered many conflicting situation :
: s du ir adi
example a studer_ﬂ wants to admit his mistake i frop ';'t]%h Lh::lr :Idju;tment hprncess. 'Fur
he is afraid of being punished by the teacher. It js best explainef:la ;},ﬂr ut at the same time

(A) Approach-Approach Conflicting Situation,

(B) Avoidance-Avoidance Conflicting Situatiop,

(C) Approach-Avoidance Conflicting Sityation. ,@
(D) None of the above. Q)

mm*mﬁmmaw&mamg.mm_

& Taeeff, freres & G aroet Tefigt T
gosa g A it st lﬁaﬂﬁmsﬂ a;?;:mﬂﬁﬁwﬁmm

(A) wﬁ—mﬁmmw@@(/(s)& o — ot vt qRfRy
(C) qzﬁt—adqﬁﬂumﬁwr (D) 9 ffe =¥ 7 |

1S. A 5 year old child @eml lack of responsiveness to niiiers, serious deficiency in

c:mmunic?liu? and_ ual repetitive behaviour. Such characteristics are the sign of
(C) Heanl?g impairment (B) Scholastic backwardness
(C) Infantile Autism - (D) Leaming disability

T 91 7 3 = gl 35 9 s e s 3 o & o v s )

FA R | 59 TE H w120 g <t 351 et 2 2 | -
(A) T EIfRET | (B) Mt g |

(C).. v efia (D) , it e

16. A bf"_ha"i"“f pattemn involving self-starvation that often arises in adolescence and
espec!ally prevalent among girls is known as
(A) Anctrexia nervosa (B) Delirium tremens
() ‘Auttsm (D) Down Syndrome
mﬁmmmmﬁ@@ﬁﬁhmgmﬂmmﬁm
it @ | Tt ST Y gy e 2
(A) TR a4 (B) Aefifeam g
(C) el (D) wA RIwgm
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ST-2 | )
17. Which of the following term refer 1o farsightedness ?
(A) Optic Atrophy (B) Astigmatism
(C) Hyperopia (D) Refraction
P 3 @ B A1 9% TR & fyg R 2 7
(A) TR T (B) R
(C) T (D) form
18. Insightful theory of leaming is given by
(A) Thomdike (B) G%E\ener
(C) Kohler (2@ | and Tollman
mﬁmmamﬂﬁﬁziﬂmﬁmw&/
(A) ST | (O(é} (B) MEN
(C) FIEeR Q@ (D) & a1 AT

19. Which of the followﬁy regulate the training policies and programmes the field o

rehabilitation of persons with disabilities in India ?

(A) National Council of Teacher Education

(B) National Universiiy of Educational Planning and Administration

(C) National Council of Education Research and Training

(D) Rehabilitation Council of India

A 7 3w ¥ e shvor Framaeh qe A 1 R grate & i 1

e e 7

(A) THE e Renofeg

(B) (T i A G s freafiraerd
(C)~ Tt e ITHUH ud wiewr oReg -
(D) Wt Fate Thyg : o




F (8)

20. “A a particular stage children begin to use PriMitive reqc.
arwer of all sorts of questions.” Piaget called this “intu casoming and want to know the
folowing stage, he means ? \tive™, As per Piaget, which of the
(A Concrete operation B) P _ i
(C Formal operation (8) ¢-Operation

(D) None of
g Tl T = M e the above
AT ATE & 1" R 3 R Sfawt s Iﬁ?%ﬂ:a:iiﬁimmm%mmm

_ STy a s

A) TR G916 X 1 I 3

EC: My o ( AB) ‘E“‘Fﬁm TR
e (D) 390 9 ot

21. Mot of the children speak first m

(A) 3 months mingf;g;v ﬂrg:};ﬁ; g
(C) 35-40 months (DY 10-13 m:;':.mh
m:?;;mmﬂmmmsuﬂﬁaﬁ S
(A) 3 AB) 6 W&R g
(C) 35-40 wéR (D) 10- 3
22. Who s the father of “Theory of Multiple Inte ig Oe“ 9
(A) Vygotsky ( runner
(C) Alfred Binet Gardener
W sTwEaE A
(A) TEeEh é(/ (B) X
(C) =hefide D7 /TR
23. Who hfs given more str 2:(: Philosophy of Social Constructivism 2
(A) Vygotsky : ~ (B) Piaget e
g;).' ﬁgegg% (D) Kohlberg
| * THTEIG SYF T STeaftres ot Ry 2
| (A) IEeh B) frm
| (C) (D) e

24. Whichof the following

IS not - o
(A) Large print book an example of assistive technology for visual impairment ?

(B) Magnifying computer book

(D) Supplement to text book
ﬁqﬂ#ﬂi’!ﬂﬂiﬁﬂﬁaﬁﬂﬂﬁ %mmﬁpgﬁa%m%mﬂ% ?
(A) =8 fie H frard (B) fermers Fgelisha femad

(C) anft dyeNs (D) YIGIYET 1 FTRH
25. l-iearing loss is measured in terms of
%C)) ‘Hvirtttz - (B) Decibels
a0 A {6t A ) et ) Fout
- (A) EaE (B) ¥efder

(C) sicH (D) diz#
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26.

27.

28.

29.

30.

(9)
L motor gkills ?
Which of the following is an example of f(";‘; Hopping

(A) Cli_ml?ing (D). Writing
ﬁqm((:) R“’E"émqmwmmm“
(A) W @ F
(C),, e (D)

Meaning of Schema is
(A) Chunking Mechanism

ino Techniques | —mory
Eg; ()Lfg:n“:ﬁd packets of information stored 10 long term M
(D) ‘Defence Mechanism of body
BT 1 AT &
(A) GUEA ﬁ:g&ﬁ
B) 3™ |
:c;fﬂiw%mﬁﬁmﬁmmm@ﬂﬂm |
. | @ e down into variois basic
Information processing theories are known 10 break :F;nnd o o 1t 16 roson r

skills that people employ to take in informatio ¢ such theory ?

solve problems. Who is best known for me Piagét |
(A) Jerome*Bruner S heanlicrn
(C) J.P. Gmﬁﬁﬁ @ Rnﬁerl mﬁﬁ%ﬁqﬁm&t,gﬁjﬂ
Emmﬂ YA A JAR AT 3 FTg 3T U & | 39 & & g
w1 wfaTeT 0 2g 48 68 7 ? |
(A) S FH . (B) o Rt |
©) 9. (D) &2 = -
y ) based on different level of 1Q.
et e 0 L (B) 301050
(C) 50to 70 (D) Below 350
Pre foro e 1Q T i “Rrrofra’ @l g |
(A) 70¥ 90 (B) 30®50
(C) S0R70 (p) soa+=
The unit of heredity is -
(A) Chromosome (B) Fertilized egg
. (C) Gene i (D) Zygote
Py |

(C) s (D) = p.T.O.
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31.

32.

33.

35.

36.

37.

39,

10) . ST

sﬁmgﬁqqﬁmm’mﬁaﬂqtﬁ FfG e ?
(A) aﬁﬁﬂﬂﬁéihf‘f (B) fora gt ~

(C) 'ﬁﬁﬂ‘%F@FT¥hid1 . (D) 9 gat)
Wﬁmﬁwwﬁtﬁéﬂ%‘mwgamaﬂqm%?

A) e e e dand | (B){ S S wie w1 F R |
SR F O I G R | (D) ST S Hifed F e Hau 2 |

(C) i

g 1 g <1 g A W A maﬁ@ﬁﬁﬂwﬁa ?

(A) Fe e o (B) St T
(C) T FAR A A (D) ¥ FHTHT T
s e TR 1 W) v W %(é/mm
(A) T ¥t AT =T
) r-frserEm @&(D)‘Wmmt@ﬁmaﬁ-ﬁmﬁm
gt T T T & (g gon 2 |

(A) HETH (B) HW |

(C) Tt (D)‘ﬁmﬁﬂw

e fafty T ITe R R -

(A) FEafeEE (B) R

(C) gH (D) TR

T e o w9 & e fftr o adi § et @ 2

(A) wmaT-ger fafty (B) 3 faftt

(€) Fromfafa, (D) UTRAgE faY
W, =@ A e g S w Tl smm e 2 7 '
() W.Fﬁ.é.qq_aq'm (D) q:-fﬂ.aqm
et fafty % s g |

A e (B) Ui &Y%

€ w=dwm, (D) T & JTP




ST-2 | .
40, 3] HIHAEAHEIE —

(A) T

(C) ™ (D) it
41. aﬂﬂ!ﬁﬁﬂ:ﬂqﬁmmmﬁmmmﬂmmﬁq? -
(A) ey @ 4 (B) ﬁﬂlﬂmai i
(C) wreafs & (D) 3= oAt
42. WIS arEi R - e
ELDELS| (B) ) : el
tg; iﬁaﬁ ~ (p) TR a b
- (A) ui:;;ﬁ (BV%
(C) Zeg-5eg wrlt (D)
44, iftre v wdaw -
(A) T Pfta wiE™ (B) g TE
. (C) JTefE T (D) uﬂFﬂTﬁ! ‘l@;
45. ﬂﬂi.ﬁmmmﬁnﬁ«ﬂ?ﬁt: Eﬁ
(A) Tareai &t = EB')’ # SqTaehal
C) e i sl sqTqehdl N
;a:mﬁmﬁmmm m%,ﬂﬁﬂﬂﬁmuﬁlﬂﬁﬁat
* sraifgaTd @ A1 § | T RiE (B;;,alaq;:_t(ﬁ?l-
Hﬂlfi'ﬂa“fim .
:g)) R Y G S (D) it 36 T IR < ST
aqﬁumwmt—
" (A) AT ¥ (B) fareetwomeTs T
() Prem ¥ (D) ATEHTETH T
HTANME -
e Aoy (B) e waf el a2

49, waﬂ@mﬁﬁﬁm:ﬁi-

(A) o (B) B
(C)mﬂ'{ (D) SAHAl

" o S | & |
(A) TR@EARII - (B) FEEE |
€) §edem®m™ml (D) ST FE B HA |
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e forfae T 35 TR TS W 51 55 7% FIm ARy 5Ty

e heal bl gt 3 'ﬁmﬁmﬂwmm?ﬁmﬁamg N
mﬁwaﬁrﬁlﬁnwmmé | Forer P mﬁmﬂmgmaamﬁmﬁm_
mamﬁm% lﬁﬂmmmaﬂlwﬁﬂ%ﬁﬂﬁq{aqﬁ,mmammmmﬁm
g,wmiﬁ;ﬁnﬂmmﬂ%ﬁmﬂmﬁmﬁﬁﬁmmmﬁmhm
e e o | - 3R mdﬁﬁﬁﬁﬁﬁwﬁﬁ%@mmm_ﬂ
3 ot o e B e, S, JHTe JrE U Iy i Wa B |

| |y

51, ‘e W d S W ERIRGER 7

(A) S EM (B) ﬁﬂ’hﬁ

(C) WuEY (D) (';6%
52, ‘G- wﬁaﬁ:mmi?&{o

(A) FHUE QQ/ (B) =i

©) @ Qg) (D) FgHif
53, W'Wﬂﬁﬁﬁﬁﬁ | |
o (A) T (B) 9N

(C) HIHR - (D) 3

54, el g ¥ e g wd AR -
(A) T T WA F ATl (B) TOFAA
©) N IFRR AR (D) forn v e T

55. ¥ A foraeft wreg s -
(A) TE . B)
(C) =R - (D) & -




%m%m“mm 63 607w HIART: '

m%ﬁm@ﬁmﬁmwwwwwmmﬁmam.m
WS 1 et o S e faken B T @ i el oftg R R WETE oN
ER A CR LR § IR ———— P TR SRR
alsﬁﬁmﬁ%wmmwm—ﬂﬂﬂﬁﬁmt | TR TRV 3 i wgEw
AR | ST Ry 2 1 & P 1 e e e i o gt @ e | o] 8 7 o A
TR~ % ¥ oo T T 0§ 1 2 o v o e et 3 Rl o <

IR AT | | ._}
(A) T e (B) f&I@O - \
(C) drdET ,& | |

57. ﬁﬁ%ﬂmiﬂmmaﬁqm@ ot wiefRfy 3 i =gera - \
(A) AT (B) £=fiy .
(C) dER Q~ (D) v

58, ‘ITAIETETE e AU -
‘(A) % T T ) Iwafire ward e |

B) wifers Iaafti 1 R
©) It=d m@ﬁmm&aﬁmﬁawqﬁ

(D) 3TN & TR HWE
59, 'ﬂﬁﬂﬂaﬂfﬂﬂﬁﬁﬂﬁ?ﬁaﬁﬁiﬁmﬁﬂﬂqﬁﬂm!ﬂﬂmﬁm@'wﬁmﬁmﬂ

60. ‘Hﬁaﬁnﬁmﬂgatﬂgr@hi aﬂﬁi@mﬁlﬁﬂaﬁfw|
(A) iﬁﬂﬁ?ﬁ‘ﬁﬂm (B) T8 T Wl SR U e 8 |

(C) =i @A ol (D) et o it R e e 8 |




31.

32.

33.

35.

36.

37.

38.

39.

(14)

SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Sf;:cliﬂn.
. All questions are compulsory.

Which of the following sentences has the correct structure of question 7
(C) Did you have got a car ? (D) Did you got a car
The passive voice form of the sentence - ‘Thieves broke into my house’ will be |
(A) - My house was broken into by thieves.

(B) Thieves were broken into my house.

(C) My house had been broken into by thieves.

(D) My house was broken by thieves.

Which is the correct option ? |
(A) Raghu is the tallest of any other boys in my cl
(B) Raghu is tallest boy out of any boy in my cl

C) Raghu is the tallest boy in my class.
ED% Rag,hhu is the more tall boy in my classé

The passive voice form of the sentence_ig‘%(n wrote this poem ?” will be

¢

(A) By whom had this poem been ?

g written 7

(B) By whom has this poem be en ?
. (C) By whom was this pmm@n ?

(D) By whom was this po

¢

Which of the following s ces has the correct structure of question ?
(A) Why hadn't she the meeting ?

(B) Whydidn't sh d the meeting ?

(C) Whydidn't she attended the meeting ?

(D) Why haven't she attended the meeting ?

*“The material should be according to the child’s mental age, mental ability, grade and level’.
Which principle of teaching is involved in this statement ?

(A) Concreteness (B) Accuracy and correctness
(C) Selection and Gradation (D) Proportion
means equal treatment to various components of linguistic learning.
(A) Hablg funqation (B) pf)merest & °
(C) Multiple line (D) Proportion
‘Which principle of teac

hing English creates a zeal to lean something new in language ?

- (A) The principle of proper order ~ (B)  The principle of habit formation

(C) The principle of motivation (D) The pnnciple of selection

The method em :

methad is t.:rged a5 a reaction of the various demerits of The Grammar-translation
(A) Bilingual Methog _ |

(C) Direct Method | (B) " Play and Learn Method

(D) The Sentence Method

,
- A
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40.

41.

42.

43.

45.

46.

F

. (15) A : cecond language ?7
(A) Substitution Method * Natural h{;; Grammar-translation Method
(C) Bilingual Method (D) Direct Method
Choose the productive skill from the following
(A) Lrsten}ng - (B) Reading
(C) Speaking (D) Reading aloud
What dt:': people read for pleasure 2
(A] Literature ; (B} Labels
(C) Report (D) Dictionaries
Which technique of reading is used to get at the gist of the text 7
(A) Skimming (B) Library
(C) Scanning (D) Aloud -

Which teaching aid can be used to teach listening comprehension ?
(A) Textbook (B) Word card
(C) Tape recorder (D) Picture @

G

to.téach new lexical or structural items ?
erence book T
ictionary .

What can be used as props for dialogues in ord
(A) Text book

y (B
(C) Realia o é)gf)

‘The testee has to replace the undegh @word with correct option.” Which skill is tested in
this statement ? Q‘ . SR

- (A) Reading ) (B) Listening

47.

48.

49,

50.

(C) Writing | | (D) Héaring

measures a student’s achievement in relation to a specific task \i}'hiqh he will later
be required to perform. |

(A) ' Productive test | (B) Proficiency test
(C) Integrative test - (D) Objective test
test measures the langﬁagé skill natura]ly.. ‘
'(A) MCQ type (B) Subjeictwe
(C) Objective . +~ + (D) Reading
What is the cause of failure in learning a second langu.age? sl
(A) Home assignment . (B) Over simplification of target language
(C) - Diagnostic test . - (D) Reading strategy
Grammatical Errors refer to

(A) Inappropriate words (B) Spelling errors
(C) Lexical errors (D) Errors in syntax
P.T.O.
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:Eead ﬂ;e Passage carefully and answer the questions that follow :
rose Pas |
sage-1 (Q. Nos. 51 to 55) hrowing different kinds of waste carelessly. Methog

S1.

S2.

S3.

We pollute our environment by t - :
, .o are the preferred options for managing wag
of waste reduction, waste reuse and recycling ik di l% cult to find a proper pla:e'

to :lsuﬂgtilﬁ:] x:rsa;?;, rf]icrg: ?: Il;:n(: l;::rs ow in big cities. The waste begins to flf:ll after fey,
hours and stinks. It bccoml::s a breeding place for harmful bacteria which would spread i
health and diseases like malaria, typhoid, cholera and dengue, €fc.

Which of the following words is a synﬂn)"'é‘ fﬂrc;‘::rmp’ ?
(A) dispose of (B) deck
(C) flourish (D)
The antonym of ‘reduction’ is LR
: B). diminution
(A) - promotion ED) decomposition

(C) induction

. : - (ly spelt 7.
mlc};’g;& e following words Is correc :’(rBI)}e Furtile
(D) Fortile

(C) Fertile -
The verb ‘pollute’ can give us the noun

A llytion

(A) llutation (B) po
(C) xllﬂt:ble (D) é%
yQ, oW :

Find the correct one word f'o:l; :he phra::"c] gl
' i into reusable matena _
Converting waste into recycling

(A) garbage ;
{C) managing waste & ) breeding
at follow :

- : .90t _ s
Prese Pasiage—11. (Q. Noe. 5 2 and to avoid water crisis in the near future it 1s necessary

56.

57.

58.

59.

60.

I have access to safe

that correct policies and s

be considered / : _ _
miﬂf‘; of water h ing. Harvesting rain water is one of the most effective ways o

ic principle I ' it falls, use it
tackle the water crisis. The basic principle is, to collect the rain water where it falls,
and let it seep into the ground. In this Rashtrapati Bhawan is leading the way. It 1s one of
the few buildings in Delhi that conserves rain water. Aizawl in Mizoram meets most of its

water needs through roof top harvesting.

Which of the following options is an example of ‘demonstrative pronoun’ ?
(A) This (B) 1

(C) Its (D) Then

‘I have access to safe water.’
The underlined verb — ‘have’ is an example of

(A) An auxiliary verb (B) Verb in simple present

(C) modal auxiliary verb (D) verb in present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) Near, more near, nearest (B) correct, more correct, correctest
(C) few, fewer, the most few (D) effective, more effective, most effective
In the phrase *water crisis in the near future’, the determiner used is

(A) water (B) crisis

(C) the (D) near

Conjunctions in the passage are .

(A) and,that (B) as, of

(C) where, let (D) most, through

I
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63.
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66.

67.

68.

69.

70,

SECTION - 1]
LANGUAGE - 11
ENGLISH

There a '
¢ 30 questions in all in this Section.

Identify the word in which t?ul: q“cfslions are compulsory.
(A) Concept - £0¢ sound is different from the other words.

(C) Sect (g) Percept
E;uc)k 0/1;:121; correct transcription of the w(c:rr()l 'gi::;:it
Taking oo’ D) emer
Taking into account the principles of language teaching

EQ; Eeaghigg c:]n be difficult
esired goal of teaching English | "

(C) Only linguistic habits can beg dI:vela;pg;iﬂgE e aowe

(D) Only leaming of English as a second language will be enhanced

Communicative Approach to English Language enables cher to;
(A) Exploit Sound psychulingugistic pring?plis Q)

(B) Exploit sound educational principles O

(C) Exploit sound psycholinguistic and edu I'principles

(D) None of the above

In Communicative Approach to teachin
(A) Better to tolerate errors in stud
(B) Not to allow students’ to exp

(C) Not to tolerate errors in st
(D) Better to note down the e

One of the language disord
(A) learner is missing !

B) learner is speaki class
%C; learner speaks in short and fragmented phrases

(D) learner speaks the full sentences

' 1ld has
ape disorder means when a chil _
%Aa;l guli)ig'ﬂ'm:ulty in understanding the meaning

' . expressing his/her thought
E(B? ; ?;off:;ﬂtgri}duc?ng some sounds accurately
(D) Eitheror both (A) & (B)

Articulation error occurs due to

ed speech habit

(A) Formed SP d clippi sounds
: and chpping

(B) Slurring over lligence

cher must know why it is
empt to express their selves
1r selves
attempt to express their selves

found when;

) t ) .
23 Leamer ;iTeeimPOﬁa"ce to stress & Intonafion
' ing involves - 1fyi ' blem area
Remedial teaching 1Yo " =, |  (B) Rectifying a particular pro
(A) Improvcmﬂnld?;geg;‘mg s (D) I_}‘-I_ei_tll‘llqr_gA) nor (B)

(C) Either (A)an

Communicative 8ppro
(A) Content relevanc
(C) Both (A) & (B)

P.T.O.

) RS
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“F (42) ST-2
o ent scheme of evaluation outlined by CBSC is
71. E:;: Comprehensive & Continuous Evaluation

(B) Continuous & Comprehensive Evaluation

(C) Continuous & Communicative Evaluation

(D) Communicative & Continuous Evaluation

79, Remedial teaching should be carried out after identification of
' (A) Text and test

(B) Textand learning

(C) Malady on language test and its causes
(D) Merits of teacher

emedial program is designed keeping in mind
1o 1(1A) Each student’s strength - n
(B) Each student’s weakness

(C) Each student’s strength and weakness
(D) None of the above

74. Remedial teaching is a

(A) Preparation of teaching (B) Pre-teaching program
’ (C) Systematic process: (D) Random precess

5. The basic requirement of a language proficiencies test &it must be
(A) Reliable (B).. Complex
(C) Ambiguous (D) SQ/ le
Passage ! ‘ ' ( ‘
In spite of rigorous precautions against aeCidents, many people are injured every year in
factories and elsewhere. In addition, so le are born with physical disabilities. They are

planned action was taken to fith people for employment. A number of charitable
organizations tried to help them i of hardship; but few seriously held the idea that these
people might still have abilitie directions.

76. Which one of the following i most appropriate title for the passage ?
(A) Rehabilitation of th sically challenged
(B) Physical disabilities:
(C) Accidents
(D) Planned action

77. In the above paragraph, ‘In addition’ indicates

either blind or deaf or in some wag ed from birth. Upto quite recent times, little
other

(A) Emphasis (B) Addition
(C) Sequence (D) Alternative
78.  Either those children or my own son picked all the flowers.
(A) have (B) has
(€) s (D) are

79. In the above passage the author wants to convey o
(A) many people in the world suffer from physical disabilities.
(B) precautions are not taken against accidents.
(C)  people who are physically challenged are fit for employment.
(D) physically challenged people have no scope.
80. Noisy children are a real headache, Two aspirins will make a headache go away. Therefore,

two aspirins will make noisy child
Above lines contain d e B0 AWAY:

(A) The fallacy of equivocation

(B) The fallacy of false analogy .

(C) The fallacy of hasty generalization
(D) The fallacy of composition .~

_J
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85,
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Yourl (43)
our love .
impression fi] afd PIly dotp, the F

Which vy

mybrow,, = Scandal stgp, 'd
For what > upion
. Care | wh
0 You o’ey.
The thyme scheme of 3 .o MY bad,
(A) abab O e extracrjg 'Y Bood allow
(<) #boe (B) aabb
,_ - (D) abea
necl mean s > 1© beat an enemy i find h
: n i E
(A) Amulet 's Achilles heel’. What does finding Achilles
(C) Strﬂng pﬁil’lt (B) Weak Spﬂt )
Thie Welf i foc (D)  Secret strategy
o ; 1 olf with its belly stitched full of big pebb
1belung wolves barbed like black pine fg pebbles

Against a red sky, over blue spow b

Which figure of s
(A) Metaphor
(C) Alliteration

Which one of the following is sometimes cal
(A) Assonance

(C) Alliteration

Which figure of speech is commo&-

(A) Alliteration (B)

peech is used in the above extract ?

ersonification
Rhyme

gue-twisters, jingles and non-sense verse ?

Simile

(C) Rhyme * (D) Metaphor
It’s a beautiful day. | have brought this umbrella.
(A) mustn’t (B) needn’t

(C) shouldn’t (D)
You should your phone call with an
(A) followon ED))
(C) takeon

“What time shall we go shop
the correct idiom.

B

(A) raining cats and dogs ED%
(C) turn ablind eye

Sonnets usually are in (B)
(A) free verse (D)
(C) iambic trimeter

A person who writes 2 play 18 (B)
(A) playwright (D)
(C) playwriter

ing?” “Let's see how the weather looksand =~

couldn’t

an email or a letter.

follow up
show on

" Insert

play it by ear
call it a day

1ambic pentameters
verso tronco

playright
playwrite

P.T.O.
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71.
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73.
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75.
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Tl 3i o6 W anem sy 2
(A) THHEHTH (B) ¥SUEYAH
(C) FHAFIEHAY (D) TeramaTTAyq
JIAYEIhHTHTY STARFIEe Rigr: wafy
(A) T (B) v
(C) TSEIEhal (D) eI 74: AR
RO, e, SgaamaeAsTAIe Foda Wehml: Hel: g af ?
(A) SreTThHTaLtET (B) wgfmaiiama:
(€) PFrEusTTham (D) IFTERTAETT:
frema? e 3 weew sy 7 .
(A) Ty (B) @ENAY
(C) wafaugraTon st (D) FEUH O(Q
QAT AERAEeaaii: TgRau A AT He1 JvITTaad! ?
(A) 1948 a7 94 (B)
(C) 1949 a1 =¥ _ (DX 0 R ¥
m—mmmmﬂﬂé&wwﬁmﬁm?
(A) 1965 H Q‘ (B) 1947 a® .
(C) 19757W » (D) 19677
O MR GEADRIEED a7
(A) 1948 TR ¥ (B) 19507 ¥
(C) 1966 T a¥ (D) 1968 TR 98

mmmaﬂﬂrﬂwﬁmﬁm WET: (76-80) THTHAT: —

76. e 3fer 9@ w1 fawife: 2 - —
(A; m (B) E@tﬁ
(C) wd (D) €Hdt « 1
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(a) Frate (B) TR
©) (D) wwhtl
82. ‘Wﬁ"sﬁﬁm I Igwh: ¢
(A) TSI (B) TEEHL:
(C) T (D) TR
‘W’Wqﬁﬂﬁl: ? i e
- (A) T (B) gfear:
(©) et (D) V@l
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(C) eRU-AY (D) 2y

70. AR sy [ W S 9

(A) MstgRes A WA S, e Al (B)  WsUYRels B Ut A2, e B.
(C) &S AWHAZ U o AL (D) SN Wisryrets e o Allvicisq A,

1. Heuis S U2 A1l 53 @atel i3 210U 9
(A) S Guadt sapil RO QA ASA. (B) 5302 3 &1l AL,

(C) s 5B el SR (D) 512 213 Sldl s,
72, SUMERAUUAA Rlluc Q2 Gl A wA S 9
(A) [Roiw (B) 25 ovaoll
(C) dicnaail (D) Qﬁ-&@ru
73, ARl Quid el W2 53 ca ay Dwy ©
(A) URLSAULR CTETEN
(C) <use-l eiel @A Al Rus
74. tilalglas—[l s B3 J2es Mﬁﬂv@ﬁﬂ& 631 Usell A2ll. A YR W2 AA-izdl 3
- s ¢ .

(A) ARl i duele. Q“ (B) 3l aasila],

*

(C) dqoeldezsd s udlel, (D) A ARaR W22l olletard sl

75. ¥ Ascl adlvis R UHRUIA el 5l {AA4M ) 520 22l B3 § ¢

(A) HrRRl Hpleld (B) (s Aau
(C) ollnsl AR A (D) el year

1AL IELUUA AR MH 5:1US 76 2l 801 B 241) :

635 Ul 1L QU B 3 A4l i AL 30t Ay Wtr-l AR Rst 2. 24032 AQ

Rlctt 24 Rid- 53¢ 0330 6. 215 Y0 6 3, Hol [QARS S50 5320l QSIA A 2L AR QAL

51 i [QARN us| Ass] 53¢ wAY R AURIN il 6. AL HIE2 AR o33 suid, Sluedl A udd

Ric 53¢ U3, b [Q[QY Ald g1RL siird 24 HRA Al W, 241 1R ddl 244 4 01 dld

L el W3, VL B2EU5 UGN ALY 6, WL UYL QRUBY, FuCY A Ll AR sui 1A

HOlAL 210 8 7 A AL Al Al WA AR WL Wettll o WA i 63 d vjol o
tfass-lU 8, o Sl AREL ill ovl.

: Sl (s
76.  AAARLA 540 AGE ARHAE S °

(A) ¥l - (B) dwdlu
(C) “RGL | SIS

Scanne d with CamScanner



§T-2

, , (63)
. YO el iR y
(A) ¥+ 6 |
C) U+ QG EI.;)) :t: 2{‘;
78, . VAHLBAUS NGO WU B, i .
(A) €Us Beaus -’ﬂ'&:t USRAUHRL S P
(C) N ED)) “;E'ﬁd
9. ‘¥ SUAL ARG ol o) * eqpaey SUL S100 6 9
(A) <™ B) oS
(C) ey (D) yslsin
80. ‘ctel [Rla 52 Wi Ry, sY e S ¢
(A) m_ct (B) [Ria+
(C) sq (D) W
A1 AN YEUUA AR WA 535 81 20 851 ovetio M) - QQ(Q
VLRI AL A0 é} ’
3Rl 5ed Bl <&

o
25 Yui BIRA A ofley s, @
v GleR GdL Qg) |

GR 23§ 2L ﬂgw
¥l A Be9L,
2916{3] el L

81, sicael uent oL bl sl 2icsRA GuL U © ?

(A) Gual (B) cuvzgd
(C) el (D) iU
82,  sleyul Hvd 2\l it SRABAL 20l 6 ¢
(A) el (B) YR
(D) &0

(C) RS

C e.mmmea -—muad B
Scanne d with CamScanner




- e m—— —

90. ‘ARieR¢dl....... Al A e vy’

(64)

83. 'BIR’ edgi”

(A) udd (B)

(C) =s1L | (D)
84. ‘GoRl’ vl 2 SleyA R N,

(A) Geriag (B)

(C) Wy (D)
B5. L sicuA sy aflels qy Ay ap0uy §

(A) Wl VAAdA (B)

(C) VA =l (D)

86.  {lA-triell AR{ AsuRUAL MR A 5 6 ¢

(B) HRL Sl Ha2UAL Aot A 6. &

(C) BUR ER HRL [l ¢, g/
(D) uilsd MU €1 53¢ Qll@

Q.

87. A A 3 Wl L. U sUL USRA S 9
(A) 2usud (B)
(C) Ggar

(D)

88. (IRl 530 uesuHS 3RWALS ¢
(A) s A | (B)
(C) =i olel ol ovdL ;all (D)

89, A-rill sul A Uy QAL S 9
(A) MWe@z (B)

(C) Wi (D)

iiiiiii

(A) ! (B)

PlRAR
oYY

5EYAL
BIHE

B a1R¢
et BesaL

00(0

&.

(A) 2 AdesUl URAS G Qi B Qg/

[Rde
U5

Vi, AL USSR
of (L & et

ISR
SHR

vl Rl W QR R 44,

2

© ; (D) :

ST-2

Scanne d with CamScanner



§T-2

The candidate has to choose either

. IV(a) M :
studies as selected in the Online Ap ) Mathematics and Science OR 1V(b) Social

Plication Form and answer all the 60 questions.

SECTION-IV (a) /@Ug ;{\Qg?
MATHEMATICS AND scxiugg/nﬁmmﬁm?

There are 60 quqstions in all in this scction@rtandidatcs who have selected this subject
must answer all the questions.

&
WEEHFA 60 W ¢ | P smr:?‘ &1 97 e @ 3R ooft we e e €

91. If ratio of the volumes of t ubes is 27 : 64, then what will be the ratio of their surface

areas ?

(A) 3:4 (B) 4:3

(C) 9:16 (D) 34/3:8

gfe 2 gt ¥ arrael 1 I 27 : 64 B, T EH I8 F QA 1 JFIA T QM 2
(A) 3:4 (B) 4:3

(C) 9:16 (D) 3v3:8

92. Area of curved surface of a cylindrical pole is 264 m? and its volume is 1848 m>. What is

22
the height of the pole ? (usc n= T)

(A) 4m (B) 3m
mméﬁ%ﬁgwmzmaﬂtﬂahmmwmmimﬂ
mmg?(ﬁ%ﬁmmd N
(A (B) 3

) 4t B

(C) sl
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: arks in subj
20 students of a class obtained following respective marks out of 100 m . ject

Mathematics :
54,46,24.36,34,70,16,53,6,32,44,54,

Grouped frequency distribution table of above will be

32. 64, 8, 66, 52, 28, 16 and 30

(A)

3 | 40-60 | S
4 | 60-80 3
IE [ 80-100 | 2
. S — L
D
©) | S | Class | Frequency (D) é&!’*
| No.
L [om |4 | i
2 | 20-40 5 | 20-40 |
] A -
40-60 | 6 | 3 | 4060 | 6
60-80 2 G5 | 4 | 608 | 4
5 | 80-100 A 5 | 80-100 )

T FHT ¥ 20 BTl A TRK a3 100 3ti 7 A ww: et 3t wa R
54,46, 24, 36, 84, 70,18, 58, 6, 82, 44, 54, 32, 64, 8, 66, 52, 28,169 30

v i wrfiga arcerar aroft ghf

(A) | .. | | wiwwn | (B)

©)
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94.

9. -

96.

9.

Note :  Details of marks cbiais (67) -

subjects of CXamination of clasg Ed by Seema in Hindi, English, Mathematics and Science

ﬂbmil_]cd by Seema ip these subﬁm Sh“_‘“’“ in diagram given below. Sum of total marks
questions (94 & 95) . JECIS is 480, Read carefully and answer following

How many marks obtained by Scéma in Mathematics ? @
(A) 93 (B) 116 (C) 109 Q) (D) 124

g = it ° foRaR ot W fR 2
(A) 93 (B) 116 (C)

@ __.4 (D) 124

4
% in comparison of English ?

How many marks obtained by Seema more j

(A) 36 (B) 48 21 (D) 30
dimr 3 = o 3ft <t g | foran T R 2
(A) 36 (B) 48 Q‘ (C) 21 (D) 30

Out of following which 1s e exact characteristics of objectives of Mathematics

teaching in classroom. | |
(A) should be related to life (B) should bein bc.havmural terms
(D) should be specific

ﬁwﬁﬁﬁmﬁﬁmﬁm%aﬁﬁmﬁmqﬁg:
(A) e @ warm e =mee | (B) SR w6l 3 8F =91 |
(C) weror v g =e | (D) fafire g3 =iee |

it ' in a test of
ut of 80 awarded by different examiners in a
o § SHEGEHD g SR & marksthacteﬂslics of evaluation out of following :

Mathematics, this shows oy (B) Validity

(A) ObjeCliVit}’ (D) Practicability |
\C) Reliability Wqﬁﬁﬁrﬁm%qﬁmﬁ 80§ & 42 37 AW &Y & WA F
IR g ferameff a1 - ,

%a::zqﬂmﬂﬁﬂ ﬁﬂ”‘“m?;")”"mmﬂmg

:2; farvawtgan (D)



98.

100.

101.

102.

103.

(68)

: siecti tions 7
Out of following which is limitation of objective type ques

(A) Guessing
(B) Difficulty in construction
(C) Cannot measure complex process

(D) All of the above
ﬁqﬁmﬁﬁa@zm%mﬁﬁmt:
(A) FATHHE T (B) famfor 3 HfeTE

© wResPrRAEEET (D) I

Out of following which of the teaching method in Mathematics is difficult to use in formy|

classroom situation ? ) :
(A) Inductive (B) Deductive (C) Project (D) _Analytic
P 3 @ 9 o R Rty = e s sqae 3 @ 1 HieT R 7

(A) ATTHATHS (B) frme®  (C) WHNH (D) fasetaomams
Out of the following, Language of Mathematics 1s ‘

(A) Symbolic (B) National (C) plex (D) Vedic
PreferRaa 3 & it <6t R - S

(A) HhdarTsH (B) YN é@* Sfes (D) afes
Out of the following, Mathematics i Ctsenseisa

(A) Concrete Science é} Abstract Science

(C) Physical Science 6 ) Relative Science

= 7 & ot wrEl F TR R

(A) T Qg) (B) 3nd famm

(C) sitfehg fasm . (D) unife fagm
Out of the followingwhich is not the characteristic of reasoning in Mathematics ?

(A) Acf:l}racy (B) Certainty of result
(C) Orniginality (D) Subjectivity °
TTira <hY Afehenan <t frdiwar Prenifea o @ TR -

(A) * ged (B) i & Pifeaaar
(C) wferwan (D) fawg-frea

Out of the following, what is most im : ot ,
for school students g portant characteristic of oral work in Mathematics

(A) It develn!:s mental process (B)' It saves time
(C) Notrequire paperpencil (D) Able to solve questions orally

?ﬁ%ﬁﬂ%ﬁmm%ﬁmﬂﬁ%mnﬁmﬁmmﬁwqmw
(A) 3R v w1 Frema w4 |

(B) YTWTwETHR

(C) &m—&ﬁaﬁmmh

(D) T ¥ W B e oty w4
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104

105.

106.

107.

108,

Out of the follows (69

particularly ,Ifn BT":;:EJ l*«"-rhig-,h Radger )

(A) LCD'ijEctnr for tl'.'at:hjng E:;f }:"fﬂﬂnﬂtiun and communication technology is
(C) lnteractiuﬂ Whi (B) P S‘End geometry ?

AR B iy B0 () o€ Projector

1 t "HT'E@'.“ T ) Television
(A) WH. 'g:%m ~ | Tare < o e arem senfir favgor 3
‘TE (D) mﬁq!':-ﬂlr'

The synthetical methoq g, Y

(A) Induction Should be used to teachl oo :

(C) Analysis (B) Smth;::mew in school after following
e & SRify e (D) Deducti

% . 10N

- R, v R w1 v P & S
(A) AR '® @

C€) favdrem | i

| (D) Frmm ’(Q
_ >

viweor\EE RS

(A) '\ﬁ B) 3 @ Aradinl A |

© -3 o9, P
\f——3+\J34+13xﬁmmz 6

(A) 3 ) 3

(C) -3 § (D) 0

[f (497 — 496 + 495) = k4?3, then what is the value of k ?

(A) 16 | " (B) 64

C) 13 e (D) 4

MR (497 - 4% + 4%5) = kAP A, Mk FFAAR?

(A) 16 | (B) 64

€) 13 “ . (D) 4

5a% + 15a— 6b—2ab =
(A) (5a+2b)(a+3) (B) (5a+2b)(a-3)

(C) (5a-2b)(a-3) (D) (Sa-2b)(a+3)

5al+ 15a— 6b—2ab=

(A) (5a+2b)(a+3) ' (B) (5a+2b)(a-3)

(C) (5a-2b)(a-3) - (D) (Sa-2b)(a+3)




(70)
109. What is the value of ! + 202 ?
R E
1000

(A) 9 . (B) 3

(C) 27 (D) 5

1 3%

= +\[3 FIRARR?

1000
(A) 9 (B) 3
(C) 27 (D) 5

110.

111.

112.

113.

~ (A) 10% profit (B) 4% profit

(C) 4%Iloss (D) No profit no loss

w Sefifaem fadar X 2 9,600 Y A q efifeA

2R e T 20% Ty g At v e 3 R st e e w1 6% 2
(A) 10% T (B) 4% @M

(C) 4% & (D) AN TN

If 2x - 3y = 79, x + 6y = 47, then what will be the value of (x - y) ?

(A) 40 (B) 32
(C) 38 (D) 42

qfe 2x -3y =179, x + ﬁy=47i’t,a’r(x-y)anm36®?
¢

(A) 40 (B) 32

(C) 38 (D) 426}*

(3x + 5)? — 60x is equal to

(A) (3x+10)? Cgf 3x = 5)°
(C) (Bx+12)? (3x-12)2
(3x + 5)% - 60x FreT i & P U 2 2

(A) (3x+10)? N (B) (3x-5)?
(C) (3x+ 127 (D) (3x-12)2
What percentage of 80 is 80 ?

(A) 64% (B) 80%
(C) 90% (D) 100%
80 1 faran wfawra 80 & 2

(A) 64% (B) 80%
(C) 90% (D) 100%

ST-2

A T.V. seller sold two T.V. at the rate of T 9,600. Out of them, he obtained 2_0% pr_oﬁt on
one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?

A | I A T el W20% AT

Scanned with CamScanner

—



sf.l
Ina ﬁeld 6 Wﬂl’kers com (71]
i+ on how man Plete g 15 | |
hen Y wo r sk ‘ _ .
EA) 20 rkers Will be fequi::dl-_? days. If this task is to be completed in 4 days,
(C) 2‘% (B) 13
q&iﬂ‘ﬁ @aﬂﬁﬁw 6%(3) 28
:I::Ej;m? q\"milﬂf?ﬂzm4ﬁﬂwmz’!,a}ﬁm&
(C) 24 (B) 18
If simple int D) 28
| (15 ounl:: CTest 1s ¥ 640 ip S years at th
| am - € rate of 89% X . e
, (A) 1,280 ; Of 8%, then what will be the principal
| g:fg ﬁ:{;.zm gr.m; ;; 600
TR 8% BN S T wryreor sy o
(A) ¥1,280 : aﬁ'(ﬁ) !“'ﬁ?mlﬂ,?ﬁ 1 g 2
%3, 1,600
s (T? : 2100 f ¥ AN >
| CI€ 1S a target of increase in number of : )
. tud iversi ;
T eats i = Mumber was 1500, then i year 2018¢of comploten <porrer, e i
e there in University 2 pletion of target how many
(A) 1800 B) 18 A
(C) 1700 . D)
- 'ﬁi RraTera 3 31 e e s 10% 37 1 v w@r T 2 | 7R ag
(2216 IE /AT 1500 ot o 2018 F il 8 Rrvaferarers & R frameff € 2
) 1800 1815 |
(€) 1700 (D) 1915

- 117, Which condition applies of congruence of triangles in the diagram given below ?

. C
(A) _Side-Side-Side rule (B) RHS rule
(C) Side-Angle-Side rule (D) Angle-Side-Angle rule

T2 R 2 oy 3 Pyt <) w1 S W1 SR S g @ 2
. B :
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118. Correct pairs of dissimilar sgpplemenlary angles in the following diagram are

119.

120.

E
(A) £DFE and ZEFA; ZAFB and ZBFD

(B) ZDFE and ZAFB; ZEFA and ZBFD
(C) Z£BFD and ZEFA: ZAFR and ZDFE
(D) ZAFC and 4ZDFC: ZAFB and ZDFE

ﬁ%f&&nﬁﬁaﬂ-mﬁwﬁvﬁﬁmﬁwi:
C

(A) ZDFEd ZEFA: ZAFB
(B) ZDFE¥ ZAFB: m@zam
(C) ZBFD T ZLEFA: Z /DFE

(D) ZAFCT /DFCsIAFB T Z/DFE

Two ;?arallel si a trapezium are 10 cm and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?

(A) 13cm (B) Scm

(C) 6cm (D) 8cm

T qHETE Squs i g SR ST 9 10 I T 16 Aft § '
78 1 &t B, & I Sard T Bl 0 | R S e

(A) 13 |t (B) sad

(C) 6u (D) 8@

What will be the circumference of half part of a circle, whose diameter is 56 cm ?
(115611::%)

(A) 44cm (B) 88cm

(¢) 22ecm . (D) 66cm

56 30 e ek Rl g s i e < e e e 2 (= 22 i o 1

(A) 448t (B) 88

C) 223 (D) 66
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121.

122,

123.

124.

125,

(73)

Cristae are found in which
‘ cell organelle 2
(A) Golg ' . . |
e du bodlqs (B) Mitochondri
ndoplasmic reticulum s

N ﬁ%@rwgmg? (D) Chloroplast

(A) Tl - AIIhiToT

(B |
(©) I35 e (D)) [UGREED
Which is an i'nsectivornus plant ?

-_;m_;__;ﬁq ard ?(B) -Urrfcularfa (C) Maﬁ'étraga

(A) " F=par B) IgARA  (€)
Which i i
zé)) mz :: :tr:d; planet in Solar systeu(*ul*!j ‘)? Venue

3;5313“3?“ (D) Satum O(Q
HRevEe /R 7 O
(A) B) TF Q’}
(C) e (D) =¥ Q/

2
DOTS is a short form of 6

(A) . Directly Observed Treatment, Course
(B) Directly Observed Treatme

(C) Distantly Observed Treat
(D) Distantly Observed Tr

DOTS, ferae vy @wwq R
(A) Wouu WA STeR, YUY (B)  weww S sasm g
(C) = Nra Su=R Fem (D) & Sfda IT=R R

Which food group is richest in energy in terms of kCal per gram ?
(A) Cereal, Millet and Pulses

(B) Vegetables and Fruits

(C) Milk and Milk products, Egg, Meat and Fishes

(D) Oil & Fats and Nuts & Oilseeds

P 91 Mo aE, el e i o SR W, St wawwd
(A) I, fele wa o

(B) wfewrai wd wat -

(C) JuwE T IR, Ve, Hid T weferd

(D) o 9 & wE g% 9 foered

(D) Orobanche

(D) 3RE=hH
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126. Which one of the following statement is

LD S correct with reference to

(A) It *:stimulates Leydig cells to produce testosterone
(B) Itis aneurohormone. |

(C) Itis secreted by Graafian follicles,
(D) It does not show synergism with FSH.

F{amzﬁq%dﬁﬁﬁnﬁﬁmmmm'a ?

(A) %Fﬂﬁnﬁﬁmﬁaﬁ%@ﬁqm%mmmtl

(B) MuFdfmamtag
C) IR EHIAafadmt |
(D) ¥ FSH % wr & i quitan & |

127. The strategy of alternation between

(2) Polyembryony (B) Parthenogenesis
(C) Heterogamy (D) Apomi

%@mmﬁﬂimﬁﬂﬁﬁ:%i
(A) sy (B) w
(€) Fremgms (D) @?mq

128. Objectives related to ﬂffcﬁlj‘&: do ‘&nainly concerned with
(A) Knowledge s ¥ gﬂ') Application

(C) Va:;i‘ng @ w(l[%) Compr%ehensinn
(A) T® ©(B) sEwam
(C) I (D) My

129. Which one of the following is not a characteristic of a good test ?
(A) Reliability (B) Planning |
(C) Objectivity (D) Discriminatioi -
mﬁﬂmﬁmmmw&m?ﬁ?ﬁ% ?
(A) fawaadfigar - (B) T

(C) wwghEm (D) - ferdeamitan

130. An example of projected teaching aid is

(A) Bulletin board (B) Overhead projector

(C) Chart (D) Model
waxdt Rreror el 1 v IemEr 2
(A) TRRAEE (B) IaTRE W

(C) =W (D) wisw

g

ST-2

Luteinizing Hormone

sexual and asexual reproduction is known as
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31. Out of the follow; , (75)
| (A) Lecture-cy 'Ng which teachip F
\ M-Demop, g me

(B) Lecture methpg  ation methg‘ od gives importance to the mental conclusion ?
(C) Pl‘oblem solv

(D) Laboratory mzﬁ;;ﬂhod
A Wi:s:ahm‘“m%ﬁWﬁ
© T ®) Mhihohblibl LT
N Ty o) mmﬁgh
*132' (c-)"hu)t Oggznfggm‘;"ing Which comes ynge, -
ﬁ(c) o Fﬁom“];ioitsfhmothesis o Sc?i’ft?ﬁl"iﬁfiiﬂ““ ?
ﬁﬁmmﬁﬁnﬁmé?a:’:%mmmtatim
(A) I g N émﬁ:ma?
(C) TR 7wy o) _mma:mqh ((\
133. Out of t]le followi ()O

g éﬁnﬂ covers all domains of objectives

(A) Team teaching i i

(C) BI‘Bi?:;Hning E[BJ; ", %ﬁﬁiﬂuﬁl'

Fraferfeg S W FarErd R % i

- @ wmﬁaﬂ%mmmmﬂﬁmi?

(C) witrs e w@@m) Ffirfra sy
134. Which type of teaching sheyld be planned after diagnosting

students in science teaching ? the leaming difficulties of the

(A) Micro teaching (B) Team teaching

(C) Diagnostic teaching (D) Remedial teaching

forarr faregor 3% ferenfifat it st et 3 figm % 3w R s S e &) sren
1 St =i 2

(©) PremTers R (D) USRI frgor

135, A systematic process of determining the extent to which educational objectives are
achieved by the pupils is known as

(A) Training (B) Evaluation

(C) Diagnosis (D) Experiments

mmm;ﬁ“mtﬁmﬁﬁ?ﬂfﬂmﬂmsiﬂﬁmﬁmt,mﬁﬁ%
f (A) wfdregor (B) HAT®RA

©) frm (D) &
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136. “Defining™ Action verb is related with which behavioural
(A) Affective (B) Psychomotor

(C) Cognitive (D) Affective and Ps
" ychomotor
“wtonfa wen” Srees e Rre sraERT T ATARE R 7

(A) “ﬁm (B) wrarays

objectives ?

137. Out of the following frame of Lj
frame is exactly related with teachi
(A) Teaching frame
(C) Testing frame

ng-leaming content ?
(B) Introductory frame
(D) Practice frame

(B) .
-1 & (D) %
A

138.

(A) 845N Qi(b

| B
(C) 685N (D; ;I:;SNN

0.75 kg 5o 1w AT D

(A) 845N (B) -?Tgmi 'mmﬁ‘@‘q{

139. Which of the following statement ;

(D) Potential €nergy s maximum at

ST-2

near Programmed Instruction, which of the following

An object of mass 0.75 ke i : ;
. I Kg1s hﬂnglnggﬁ :
applied by string on the object ? a string attached to roof. What will be the force
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Ilﬂ' Wthh ﬂf:hﬂ ﬁ]"ﬂwlng tetnperatur (77) F

(A) —8°F © 1S not possible 2

(C) -8k (B) _go

ﬁqﬁammmnmmt D) -gep

(A) —-8°F '

(C) -8k tg)) ~8°C

- R °R

1. 1joule 1s equivalent 1o

A) 4.2kC

(A) al (B) 4. Cal (C) A ]

| @ T BT} 4.2 KCal (D) 75 Cal

A) 42kC |

(A) al B 42ca () L,ca

= 4.2 (D) 3. Cal
142 at should be the mj

height ? nimum height of a plane mirror to get full image of an object of 2 m

(A) 1m (B) 2m

T WA QU1 & 2 m S <y

TJF
LRI b
(A) Im (B) 2m

143. Sound transmission takes place as
(A) Stationary transverse wave (B)

essive transverse wave

(C) Pm'gressive longitudinal wave (D) “Particle form
S T H=Tor Ry R §
(B)

(A) T AT T F9 FAEY W o w9
(C) Igewd wmft & w9 H (D) FWEEIH

4. Which of the following is a Green-house gas ?

(A) Nitrogen (B) Hydrogen
i f e St e E e &2
(A) Bl e | (B) 4L ARE|
©) e (D) TEH HFwTeE
8. Chemj jum nitride is
emical formula of Ammonium 1l
(4) ;:ngm TR NH)N,  © (NH)N (D) (NH,,N,
o g w1 T & & -
(A) NH4N (B) (NH4)2N3 (C) (NH4)3N (D) (NH4]3N2
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146. Monomers used to prepare artificial fibre Dacrop is
(A) Ethylene glycol and Acrylonitrile
(B) Ethylene glycol and Vinyl Chloride

~ (C) Ethylene glycol and Terephthalic Acid
(D) Ethylene glycol and Acetonitrile

T WM SHH TN § 7 T 2

147. Antacid substance used for the t
(A) Caustic soda (B) Caustic Potash

(C) Milk of Magnesia (D) Lunar Caustic
STTHTRI S 3071 1 TR F3 3 Ry w 2
(A) SIS Qe " (B) qiewr
(C) e e Aefifdrn %, R HIR
148. Coal containing maximum pe@@%{ of carbon is

(A) Peat (B) Lignite

(C) Bituminous 6 (D) Anthracite
aﬁmﬁaﬁ*ﬁqﬁ@&%mi

(A) dre . (B) forame

(C) fgah (D) ¥TTRE

149. Which of the fo lowing is an output device ?
(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)
(C) Optical Mark Reading (OMR)
(D) Visual Display Unit (VDU)
Fr=forfiaa & ) =7 |1 sseqe Sy § 2
(A) TR $ e Reem (MICR)
(B) 3ifReer siaet Rawee (OCR)
. (C) JATRwa arb {ifE1 (OMR)
. (D) fagam f&eat gfie (VDU)

150. Who discovered Penicillin ?

(A) Edward Jenner (B) Robert Hooke _

() Robert Koch (D) Alexander Fleming

ARl E@ e & 7 |

(A) TR il 2l
ﬁ'd'é ﬂﬂ (D) Q,'ﬂﬂﬂm TR

©)

reatment of acidity in stomach is
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s

must answer all the quesﬁﬂns
@ @ 7 T 60 w7 §

92. - Under which Anigle of the C@ﬁun of India untouchability was abolished ?

(A) Article 16 (B) Article 17
(C) Article 18 (D) Article 19
MR <% T 3 e argeae % st SR ®) v R d 7
(A) 3BT 16 ~ (B) ITWRI7
(C) =37 18 - (D) IFRRI9
B In which part of the Constitution of India the Fundamental Duties are enshrined ?
(A) PartV (B) Partll
© PartIvA ' (0) etV
YRE ¥ Gy 3 fre w1 A 5 oAl Bl WA (A1 TR 7
(A) Wy @) e
©) wrrIv-A iy SRR
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94.  Article 25 of the Constitution of India is related to
(A) Freedom of Conscience and free profession, practice and propagation of religion

(B) No discrimination would be done on th T
-y ¢ ground of religion, race, caste, lénguagg or

(C) Right to education.
(D) Minority Institutions.

MR Wi 1 a7gede 25w @

(A) 37030 ) wran et FRYT R ol 3 qrer, s s s ) wdE
(B) v, e, iy, e 1 440 9 et 35 e e i s 7 o A
(C) Tem =1 ftrpme 5

(D) TSI e

95.  Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs.
(B) Reservation for SC and ST in Legislature.
(C) Equal pay for equal work. ()O

(D) Prohibition of Child Labour. é

96. What is the Qunm’:1§h'ed to run the proceedings of the Lok Sabha ?
(A) 1/4" of tota bers (B) 2/3" of total members
(C) 1/3"oftotal members (D) 1/10" of total members
THEYT ) FHIIATE % HETEH » 1T Sravas mgRiRne 7
(A) TS UG GEATHI 1/4 919 (B) et HEE WAL 2/3 51w
(C) T UGH GSAT I 1/3 91 9T (D) el T F&&T T 1/10 71 W

97. Which Article of the Constitution of India provides for a Council of Ministers which shall
aid the President in the exercise of his functions ? |

(A) Article74 (B) Article 78

(C) Article 79 (D) Article 80

YRA & WRUH & ®F ¥ Ig8e § o dfieieg F1 weum @ A R apefy ) sed el &
foefee #f wrEaa S R 7

(A) TR (B) FFHT 78
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100.

101,

Who appoints the Stat .

(A) Chir:-:f Election gul:;:ﬂcziuctn C“mmi _ F
(B) President of India

(C) Governor of

! € co
(D) The Legislative AS::;’:EM State

T I AGF ) 33
(A) m%g@ﬁwﬁ%

(C) T =R Ty - (B)  wrear 3 oy
Which of the follgw N

)1'OWing stater .

(&) The President of Ingig cap gecedin8 the §
on e

(B) Itis binding of the Constitut

(C) The Presid

(D) The Gov

(©) Wﬁﬂﬁﬁmmﬁ&nﬂm
(D) W= AT % Ryl S1uR s < henid

Electoral College for the election of t i ' :
ident of Ind
(A) only the elected members of abha W ersig ot

(B) all members of Lok Sabha
(C) only the elected membe
of the States.

(D) only the elected members of the Parliament of India and the Legislative Assemblies
of'the States and Union Territories of Delhi and Puducherry.

VR % Tpgfy & g & Pates qvee 3§ wite R

(A) Fae ARV % Fatia age

(B) HEwT s §Hl 4cH . *

(C) Wr &t v au T 1 Rrum-wwait % wee Praifa wew

(D) WRa $i Fag au Tl H PuE-TA R RKeeh 3l 3= & wo-wh it F
Fad faitad 95

*

the Parliament of India and the Legislative Assemblies

Longest river of Asia is

Yang-ti-si (Yangtze)
(A) . ‘Hwang-Ho (B)

© Maoog oy

n f'im_ : (B) W= (gimeh)

e ——
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102, Kiliman: -
thmanjaru mountain lies in which country 9 E
Eg) Tanzania (B) l?e.iya
) _Uganda (D) Rawangs
T e e 2 3 arafm @ o
(A) o (B) &=y
(C) Im= (D) @
103. The average t
(A) 4300 Cmperature at stratopause s
© 100°C bl o
?::rmﬂmqtahmmmnmmt
43 °C
© 100°C D) voo ©
104, ?:;‘.alt rock is an example of
Hypabyssal rock ‘
(C) Plutonic roc;;oc Eg; fdm:u et iy
( ﬂaqq; N eam%@ rock
A) ITETEY d5 §mh
B
(C) vrarehy s :D) ﬂiﬁ
105. The avera ‘ -
‘@ ls%ge energy flow from o X hlclevel to another is
@, 10 o
T T 2 8 2 ot o :
P 9% o
<€) 10% (D) 20%
106. \Ihosc emissary was Magasthanese ?
(A) Alannder (B) Bindusara
(C) Wilsonl (D) Selucus
ATt Rt o o 7
(A) fa=x (B) ﬂlw
©) fwm] (D) degwy

107. Who was not the Navaratna of Chandragupta 1’

(A) Varruchi iy -

. (B) Varahmihir
(C), Dhanvantri (D) Fahi
aﬁqwﬁ?ﬂuﬁmﬁmqm—-)rmu;y;n
(A) T@MN (B) wfifix
(C) GFa=R (D) wEm™
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(08 The name of Maharana Pratap’s elephant was
(A) Ram Prasad (B) Chetak
" (©) M:ﬂrt:qang " S (D) Veer Prasad
wEron Sl _
(A) TEIS (B) ¥
(€) e (D) dRwure
109. gocial reformer Govind Guru was bom in a |
(A) Pandit family " (B) Farmer family
(C) Banjara family (D) Jamindar family
AT T T 0 T T 53T
(A) qfea TRER & (B) e whaw ¥
() W aRERH (D) e w3
110. Who wrote ‘Chetawani Ra Chungatya' ? N
| (A) Pratap Singh Barhath (B) Jorawar Singh Bﬁ
(C) Rao Gopal Singh (D) Kesari Smw th
vt v e e fordl 7 Q/
(A) VAWTHE WHES (B)
(C) TATIIEAIE (D) ES
111. Who arranged a scholarship for Vee '@yak Damodar Sawarkar for his higher education
1 2
‘(1;-0“:::“)1 Krishna Verma B) Subl:lashsf.'l;ndrﬂ Bose
C) Ras Bihan Bose (D) Mohan Sin
%ﬁ;lté%m 3 fore 3 v ¥ BT  srEen fre o ?
(A) Tl ey g (B) Wﬂﬂ
(C) Tl aE . (D) WIEATE
. :rd g )
112. ahfﬂngrigz the Matsya Janpa w?B} i
(C) Kushinara (D) Gokulpura
o T9E Y T o
(A) =T () fameTm
(C) Fefm (D) MFIT
113. ‘Anand Temple® of Pegan Dynasty 1S lﬂ‘-‘-ﬂl'e;a'“
(A) Pakistan ~(B) “h_' )
(C) Myanmar (D) Chin
4 F91 w1 3 Wik el fRra R
(A) uifFee (B) ¥
(C) =MR (D) WA -
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114, Who won the battle of Tarain (119] A.D.)? o
(A) Amo Raj Chauhan (Bj M.uh ;
(C) Prthvi Raj Chauhan (D) (;wimafighhn?,
mﬁﬂﬂ?(ll?li.)%ﬂﬁsﬂm? R
(A) AR HeH (B) Temye it
(€) TR Sem (D) My e
115. Which dance f; ' e d .
in 20102 orm of Rajasthan is included in intangible cultural heritage list of UNESCq
(A) G
A Bl‘:‘:‘;d: (B) Kalbeliya
(D) Kachchhi Ghodi
TSI 1 S |/ 301 ¥9 2010 & ' ot
R Tar s + I (UNESCO) ) at(éﬂlqﬁmuﬂu@ﬁn&%a
(A) e

(C) g ;E; &n@

<

116. Who was the husband of Saint M
(A) Bhoj Raj R '
(l_f_‘) Narpat Singh ) S o S"‘g_h
Ha Hiorwmg 3 wfy w5 3 oy e S

(A) W | Q) (B) TmRiw
(C) Tuafix ‘ (D) wumfyg
117. :’:;nting School *‘Bani-Than;’ is related to
Satwant Prasad
(B) Nagri Das

©) M )
ngﬂ“:atl ' (D) Shiv-Parvat; *

Ferreren I qoit-3vit aiftr 2

(A) a9 y4re

(C) wymadh
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121.

122,

123,

(A) Padmini Dev; cnﬁce:iﬂher life in Khejarali Movement ?
(C) Meena Devj ) Karma Devi
Forgett AT F 3qd (D) Amrita Devi
9 1 e R R
(A) TRF (B ?
C) W - ( D))- :‘:ﬁ;
Who wrote ‘Vande Mataram’ ;

\ : n book * ;
(A) Bankim Chandra Chattarjee a2

(B) Vyomesh Chandra Banerjee
(C) Vipin Chandra Pa)
(D) Ravindra Nath Tagore

R "SR 8" 5 T e, e o 7
(A) WFFEmEi (B) = T
(©) TR T () ez &
Which of the following place is not connec@a;innai Highway No. 157
(A) Jaisalmer (B) Ra
(C) Hanumangarh = . ( ikaner
ﬁnﬁf@aﬁﬁaﬁ?mmﬁnﬁh —153[{[:@1@51-3?
(A) SEER ?‘(B) LIEST
(C) THHTE (D) HHR
Which of the following is the largest man-made soft water lake in Rajasthan ?
(A) Pichhola (B)) -Ei?:aﬂz::d
(D) Ra
ﬁnﬁftaa(q Fateﬁ?iﬂﬁﬁtﬂhﬁﬁﬂﬂﬁﬂﬁlmﬁﬁﬂsﬂamtﬁ% ?
(A) feE (B) T
(C) FABEPR (D) TSHAG

Vishnu were known as
The devotees of V1 (B) Pashupatas ':

Eg; i?f:sm (D) Lingayats
fyeo 3 vy e 9

(A) TR - ferma
(C) ER (B}
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India is found ?

(A) Anguttar Nikaya | (B) Divyavadana
(C)_ Rigveda (D) Suttapitak
ﬁwﬁ@ﬁﬁ%ﬂﬁaﬁmm%ﬁmqﬂmﬂwaﬁwi ?
(A) R fmg (B) Re=maem
(C) Fe (D) ¥afes
125.- The old name of the river Ravi was

(A) Suvastu - (B) Kubha
(C) Parushni _ (D) Dwashdwati
Tl 3t <t wrfie sy oy
(A) HaTeg (B) T
(C) Twwft (D) el -

- 126. The capital of Shoorsen Janapada was
(A) Mathura (B) Vrindav @
(C) Indraprastha - (D) Ku lﬁ&a

Y& S9G hI TIur o -
(A) o (B)éd:
(C) FEw™ @\ |

127. State ‘Rajasthan’ finally fum& :
(A) November 01, 1956 (B) May 15, 1949

(C) March 25, 1948 . (D) January 26, 1950

TS “TIEA’ A 4 39 foftr <6t aret amn
(A) TE=R 01, 19 (B) W% 15, 1949
(C) = 25, 1948 -~ (D) "=t 26, 1950
128. Social Studies is taught at E
(A) Secondary level (B) Senior Secondary level
(C) Graduation level - (D) All of the above |
IR eaq &1 o e emar g
(A) WP TR (B) 3 UTHMS TR W
(C) ERHFTRT (D) ST asft
129. Taxonomy of objectives in education is given by
(A) John Dewey (B) Smith
(C) B.S. Bloom (D) ILK. Davis
e 3 St 1 ot R g
(A) SASHER (B) femrgm

(C) .ug. SEI (D) 3IE. . W
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13.

133.

134,

(C) preparing students for exams.
(D) language development dents.

AR 37 3 R 1wt o el

(A) e @ wefta gET A T

(B; PRl ) T qEal 3 s farm i & fem ™
(C) ﬁﬂﬁtﬁﬂ%qﬁm%mﬂﬂj{mﬁm

(D) fyenffat 3 vvan feshE W

(A) giving information related to subject. o
(B) developing thinking m:@dmm towards social issues.

Visiting historical places < useful in Social Stud_ies teaching for

(A) creating interest in sEtbject. |

(B) providing first hand information.

(C) better understanding of content.

(D) All of the above.ﬁ S N

(A) R sAq (B) T I WS HE |

(C) ﬁwa‘@'ﬁmmﬁ (D) I W

: ; (87)
Ared of cumtl:ulugn'mcludes
A Internal activities of a sch
:C ) Both of them - ((g)) iﬂﬁmm activities of a school
Wﬁi Q‘iﬁﬁﬂﬁlﬂz one of them
ya ma’?‘i B) e £ a1 frand
© (D) 3% 3 & g 7l
cial Studies text book shoyld be a :
: ccord
(A) :12 '?:aﬂ;}lr (B) t:leg St?udent
i%ﬂm me;ﬁ D) the Government
M TIAIEH, 1309 B ari
() TG (B) feremeff %
€ FEss (D) WHR*
us‘s’i‘;i;lﬂi“::iai;e::}:’? is telling the sequential pmf:ess of election in classroom. She is
(A) Explanation (B) Narration (Q
(C) Discussion (D) Questioning
mﬁﬁmﬁmmﬂwﬁmnﬁx L R | e R i w1 s
(A) SETET (B) wuH A
(C) uR==i (D) m@ _
Social Studies teacher should give em on
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135. Bloom's lesson plan is based on "
(A) Objectives | (B) Content
(C)  Presentation (D) All of the above
&1 %1 913 A9 ammurfig @
(A) IeHiw Ry
(B) W
(C) regfereor gy (D) IR ot

136. The project is that '
purposeful w ich - PO ,
atmosphere, This Stﬂtcrr::cnt . lha:]:;' Which is done with complete devotion in the social

(A) Bloom
(B) Crow and C
(C’ﬂ ! “:;‘BDEWEY - . (D) Kilpatrick o
(A) ;anl 3ﬁm%mmmﬁmamﬁﬁﬂnmimsmt
- (B) M weF
(C) i3t = (D) s
137. In Social Studies whi : _ |
independent li::;k:l gl ‘,:?h of the following test prnE) an opportunity to evaluate student's

(A) Objective type test (B
) [Essay typet
(C) Short ﬂnsgﬂérgp; test (D) S };P: a‘r:lsstwcr-lypc test
IS e CEEE h T0 T & TR 1 SR e et 7

(A) TgFw R ) gha W 61 qlie

(C) TYg-3Ivte= g 6 3ol - STeT W Y yhtay
138. Which of the following ié&i' Crop ?

Eg)) 'I'I\:llm y \ (B) Groundnut

usta (D) Water-melon

Fafafea i a 'GHA R ?

(A) (B) Y

(C) wtEt (D)

Inland National waterways ?

(A) National Waterways No. | (B) Nati
_ . tional Waterways No.
(C) National Waterways No. 3. (D) National Watemai: Ng 421

Frrferia 3 @ frg sriafes i sremm & e F e A cefts
(A) YW Semrigeg-1 (B) ufiu::!:ﬁ?;m—?ﬁm i I
(C) U¥R Semmf gwa1-3 (D) T FemT G- 4

140. What was the male literacy rate in India as per 2011 Census ?

(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
2011 =t SIVHT 5 SFER YR & Yoy ararar o R off 7
(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
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142.

143.

144,

145,

IN India ;
(A) Arabian Sea Ndia jg the result o

feyclones, whi sh orivi fic
(©) Refd Sea (B) Bay of Bengal e
T A 9l gt ERE| "@I’E(l[;:ﬁ Mediterranean Sea
(A) 3" HR ATl 5y qft“’l'l'lil 2,
(C) T anR a (B) Wﬂaﬁm
(D) e gom
The area in Indo-Gap,

1[;% Pafgar Region - :E)) Bhabar Region rmergesis locally known as
- ﬂtﬂﬁ, Wﬁﬁ aiﬁah Cho ,

®) T e 8 3, v 8 v v

(C) IR Wy o ::'W%ﬂ

Which of the followin O
B ener . ; )
(A) Hydel Po BY resources is credited t n&&r

(B) AtomicE
(C) Coal (D) Non-c lonal energy
Y Sreifirecor 3 g 3 Sl HETHT B AR ?
(A) st frem (B) |

;V;il:uhl t::!i E?he following S@ndia has banned chemical fertilizer for sustainable
(A) Sikkim (B) Arunachal Pradesh

(C) Andhra Pradesh (D) Goa

Rwres (el waa) F ¥g P 3 & wra % Rre 1w 3 varalie sde & sqdm
S fRgwm Rt 7 |

(A) fufeew (B) U Wl

(© ariusm (D) M3

Which of the following Iron and Steel Pla::;t was cstablished with the technical
collaboration of Britain ?

(A) Bokaro Steel Plant (B) DErgapur Steel Plant

(C) Raurkela Steel Plant y (D) Vijaynagar Steel Plant

- ﬁﬁmm_mmﬂmﬁq%mmﬂﬁﬁtﬁ !

(A) rer) e @) G Fem

(C) TracHen FeIma A (D) e
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146. Wh; et |
Which of the following river is notorious for ‘Badland’ ? -
(A) Chambal i
- (C) Godavari. {fﬂ 'Iﬁn Shn:h d
_ ungabhadra
zﬁ‘-rftmii Lo L T ge— ' (Badland) % e w2 ?
(©) Tead i
(D) gm
147. The habitat of ‘Yakut’ tribe js
A
(C) New Zea]anq (B) Congo Basin
(C) Amazon Basin iberi
‘ : (D) North Siberia
(W TSI 1 I (SR 321 ) - S
A)
| siters (B) =i-m aRkm
(C) memafm (D) 3wl
148. Ghagghar Plain is situated in O
(A) Gangdnagar and Hanumangarh rcts
(B) Jhunjhunu and Sikar Distric
(C) Jalore and Sirohi Distri &/
(D) Jaisalmer and Barmer %ﬂs
TR e safRmt 5
(A) TR 3k % (B) g e Rl 3
(C) SR au ¥ (D) e e Rt
149. The first textilamill of Rajasthan was established at
(C) Udaipur (D) Beawar
TSTET 31 WYUH W IUFT TR 37 o
(A) TR (B) ¥ierarst
(C) FEAX () W
150. As per ‘_?01 I Census, which of the following district of Rajasthan recorded lowest decada!
population growth rate ?
(A) Ganganagar (B) Bund
(C) Baran (D) Sikar |
2011 i I ¥ IFER, Pt 3§ ¥ e % fee R © eyl srden 3 @
= W ? |
(A) TTAT (B) I
(@ | (D) o
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